Grade 9 — Unit 8.3 Practice Questions - Answers

1. Point O is the centre of the circle. Arc AB is a semicircle.
What is the measure of £ A0B ?
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2. Point O is the centre of this circle.
Determine the values of y° and z°.
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3. Point O is the centre of the circle. \2—‘9_,_ //’-Oé e /Z )(v JnscstED = ,Z)(é?: /3

Determine the values of 5° and c°. /4/\35%4'
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4. Point O is the centre of the circle.
Determine the values of @° and c°.
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5. Point O is the centre of the circle.
Determine the values of y° and z°.
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6. Determine th?'measure of each interior angle of quadrilateral ABCD.
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7. Point O is the centre of the circle. € ~=I/¢.0~ /4",— A s 5
Determ.ine the radius of the circle to the nearest tenth.| | CAD C‘V’)Z C&D 7, & 5 (o)
What circle property did you use? /_\(é:’_l\pg:’__; éé_——\\
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8. Determine the values of x° and y°.
What can you say about line segment AD?

{Af@ e —Fheovah The mic(a/z&) LA A

ma 6.5 ,’T 7‘/{” (‘ﬂﬁ/}"(k s

« Thersfore /‘30(4«7— B) = gp°

= % Jo—? 70()/ “hen e 43/4’33)
s A= (G0 F 53 = 0 195 #-5F
|87 23% |
> Since.  Ap = Adiarmre TER ; ~“he n ;
paengts N ppady el g

)ﬁ 7% o

e o

9. Sheila is planning a shooting drill for a soccer team. She wants the soccer players to practice shooting on a net
with a shooting angle of 20°. She has sketched this diagram.
Complete Sheila’s sketch to show the curve or line along which she should have the players stand so their
shooting angle is 20°.
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10. Point O is the centre of the circle.
Determine the values of x°, y°, and z°.
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